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QUESTION 1

The bar graph below represents the weights, in pounds, of 5 different dogs.

DOGS' WEIGHTS
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If 5 more dogs with an average weight of 5 pounds are added, what will be the approximate average weight of all 10
dogs?

B.7.5
C.10
D. 55

Correct Answer: B

QUESTION 2
Select the word that best completes the sentence.

After projecting steep budget , the company was forced to close underperforming stores in an effort to
reduce spending and avoid losses.

A. negotiations

B. divisions
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C. deficits

D. increases

Correct Answer: C

QUESTION 3

Which diagram represents the associative property?

A
(A+K)=AK
B.
AK) xO=AX% (KO)
S A_0Q
O A
2 A OA
O R OX
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 4

Line segment AC is 9 centimeters long.

1
Point B is 2/3 of the way from point A to point C. What is the length of line segment BC?
A.3cm

B.4.5cm
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C.6cm

D.8.5cm

Correct Answer: A

QUESTION 5

Rory has an average score of 89 on four math tests. Her highest test score was a 96, and the range of her scores was
seventeen points.

What was her lowest math score?
A. 70
B. 79
C. 89
D. 90

Correct Answer: B
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